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1.  The ‘Badland Topography’ is found in which FrerieiRaa # ) o & g 93 IR
of the following river basins of Rajasthan? 4 SeEma 9 g Sy 87
(1) Mahi 1) =
(2)¥Cuni 2
(3) ¥Ehambal 3) Had
(4) ¢Banganga 4) SR
2.  With reference to ‘Thar Desert’, what is the YR ToRA @ ¥ed ¥ WElferds’ @
‘Parabolic’? 27
(1) Sand Dunes (1) ST WU
(2) Lake )
(3) Khadin 3) wsH
(4) Tanka (4) -a?m-

3. In which areas of Rajasthan, the outbreak of A § 916 BT JHY 9%l “HNR A4
floods is mainly seen in the “Ghaggar River o °dl” # e &3 § dwr
Valley? 27

A. Suratgarh A IRAIG

B. Borpal B. 9IRS

C. Manekthar C. TNHR

D. Khandela D. Woar
Select the correct answer from the code given W SR FT W 99 RY W ome @
below- Hfe— «
Code - HE —

(I) B,CandD )

2) A,BandC (1) B,C3RD

@) A, CandD @ ABSRC

4 A,B,CandD (3) A,CHRD

@ A,B,CsRD

4. What name was given to Siwana Fort, after 1308 €. 9§ Ryar gt =1 it o= & s1”
conquering it in 1308 A.D. by Alauddin oSt Raeioll g§RT g9 w0 AW e
Khilji? TR

(1) Mahmoodabad (1) FEEETE
(2) Khairabad (2) &REE
(4) Kamalabad @) SAEERE
5. Name the Maharana of Mewar who gave AqS & S ASRIUN 6T THicad BN
shelter to Baz Bahadur, King of Malwa — T wierar & UM 99 99gY B IROT
UE Bf off —
(1) Maharana Udai Singh (1) #=RvT 929 g
(2) Maharana Kumbha (2) FERIOT e
(3) Maharana Sanga (3) TERIOT WA
{4) Mabharana Pratap (4) TERMT Ta
11- 8 Page 2 of 32




ey

w

6. Which Jodhpur Royal is credited to have 6. GIEUR & fFd USIH AR B GRG0 B
authored the text ‘Gaj Uddhar’ based on a TR AR 9T SER’ T & =1 &7 5
story of Bhagwat? =14

(1) Rao Chandrasen @ W@ T

(2) Maharaja Ajit Singh (2) TERET sna R
(3) Maharaja Bakhta Singh (3) FERIST 9&7 RiE
(4) Maharaj Kumar Shersingh @) TERS FAR SRR

7.  According to Koppen climate classification, 7. N & Sadig S0 & ATAR, TR
which type of climate is found in Ganganagar g 4 59 voR & Sad il SRl
district? 27

(1) Bshw (1) Bshw
(2) Bwhw (2) Bwhw
3) Aw 3) Aw
4) Cwg 4) Cwg

8.  The Bhorat Plateau is Iocated - 8. ¥RIC @ TSR Re@ § —

(1) between Kumbhalgarh to Gogunda (1) BT | Il & 9
(2) between Kumbhalgarh to Jaisamand ) qiqmqq, T TGS @ s
(3) between Gogunda to Jaisamand. (3) TRE=T qd SEHT B 9T
(4) between Jaisamand to Bhensrodgarh @ wagde ¥ SWiene & 9=

9.  Arrange the low mountain peaks of Aravalli 9. 3REe! & 4 Udd RERl & $AE B
in descending order of height - TR JARIE 9 H R HIfg —

(1) Taragarh - Saira - Nag Mountain - (1) IRME — AR — 91 Y818 — ST
Dora Mountain udq

(2) Saira - Taragarh - Nag Mountain - (2) 9RRT — GRFIE — 917 U8[€ — SRT
Dora Mountain

(3) Saira - Taragarh - Dora Mountain - (3) TR — ARG — ST 99 — AT
Nag Mountain TETS )

4) Saira - Nag Mountain - Taragarh - i

@ DoraMouitain ® “) ?%W_qu@_ P SN

10. The ‘Padrada’ inscription is related to which 10. ‘USRSl 3If%erd fHd oo o | 37
ruler?

(1) Kumarpal Solanki (1) GRS Aol
(2) Maharawal Ajab Singh (2) #ERME o e
(3) Maharana Kumbha (3) HERIUT Gl

(4) Maharana Jagat Singh (4) ¥RRT ST e

11. Which of the following cults has been 11. &7 & 9 B9 91 TRIC™ Ha idell & &N

propounded by Sant Mavji? whftT fear =7
(1) Ramsnehi cult (1) IFEE IHE
(2) Nishkalanki cult (2) Fredel g=E
(3) Ramanuja cult (3) IS IR
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12.  Which Chauhan king of Rajasthan has been 12. IoaM @ (&9 d8F IME o7 SaF®
credited by Jayanak in his ‘Prithviraja Vijay’ BN I gedR R ey § gedt @y
text with filling the earth with silver A By qeTEll ¥ W o9 BT AY fewr
coins? 2?

(1) Prithviraja I (1) YR Ser
(2) Ajayraja 2) ISR
(3) Arnoraja (3) it
(4) Prithviraja ITT @) gedR i

13. In which year the Royal Commission on 13. BIH UR WM& IANT ST e b 98 fbay

Opium was created? RITITS
(1) 1858 AD (1) 1858%.
(2) 1893 AD (2) 1893%.
(3) 1895 AD (3) 18958%.
(4) 1902 AD @ 1902%.

14.  According to census 2011, identify the 14. SFIUMT 2011 B oFER, Pl & @
districts of Rajasthan which have population IS & 100 @RS W 9 frarfier ¥
density less than 100 persons per square BH SET dret fSlel @Y ygEnag —
kilometre from following?

(1) Pali 1) urelt
2) Churu @ T™
(3) Bikaner (3) dBFR
(4) IJalore. 4) TR
15. 'Which river basin is not a part of Eastern 15. M laifRag # 9@ S 7<) IRFT womem
Plain of Rajasthan from the following? & Tﬁ AT BT 9T 8] 27
(1) Chambal Basin 1) 5 SR
(2) Banas Basin (2) 9 IR
(3) Mahi Basin (3) == SRy
(4) Jawai Basin @) varE IR

16. According to Census 2011, which district of 16. S=FIVFT 2011 & . O H 0—6
Rajasthan has lowest sex ratio in the age I = B ¥ e R § 9w a9
group 0-6 years? feRTuTT gy e 27

(1) Gangangar (1) TR
(2) Karauli (2) el
(3) Sikar (3) ¥
(4) Jhunjhunu @) I

17. “Tam signing my death warrant.” whichruler  17. “H 309 SU¥—aRe TR THER & & §["
said this while signing the merger letter ST UHiaHRoT B Iisa & kM e
during process of Rajasthan union? T TR EWER P4 5 (5 a5 3 5=

(1) Maharaja Tej Singh of Alwar PE A7
(2) Maharaja Udaibhan Singh of Dholpur (1) N & AERIoT ol i 3
(3) Maharana Bhupal Singh of Udaipur (2) HIdR & AERNT Segur R
(4) Maharawal Chandraveer Singh of 3) STR & FERVN U Rig 3
Banswara (d) SErST @ HERES THaR Rig §
11- 8 Page 4 of 32
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18. According to Census 2011, which one of the 18, SIFIUMT2011 & AR, =1 # & o=
following district of Rajasthan has highest & g el ¥ ot aRRar &% gl §ril
literacy rate- 27

(1) Jalore (1) SR
2) Karauli @ FH
(3) Ganganagar (3) TR
4) Alwar @) AR

19. Match ListI with List-Il and select the 19. A1 @I A1 § GATIT BT SR T
correct answer by using the code given below % A fag T BT DI RN PR Hal S
the List : gﬁ-q -

List-I List-II -1 -1
(A) Moti Lake () Hanumangarh (A) A S @ TTAIG
(B) Bujh Lake (II) Banswara ®) 9 =Ha M sigarsT
(C) Anand Sagar Lake (III) Jaisalmer (C) 3T OR e (0D SR
(D) Talwara Lake (IV) Bharatpur (D) TeErST e @V) TRAR
Code - He —
A B C D T A B C D
O m oI @ m o 1 I
2 IVv o I I @ IV m I I
S I on m 1w @) 1 o m v
@ o um Iv I @ T MW IV I
20. 'Which was specially sowing in Rangmahal? ~ 20. z;:tlsa ¥ fady w9 9 fue @dr &1 o
?
(1) Wheat g
(2) Rice g; ?ﬁ?ﬁ
(3) Bajra @) TS
(4) Maize @) TP
21. In which district of Rajasthan Sagwan forest 21. WoRUN @ &9 5 4 g&aa: 9rfEF &
are mainly found? T 91¢ SR 27
(1) Alwar (1) IR
(2) Jalore (2) WER
(3) Chittorgarh Q) frsTe
(4) Banswara (@) Siaare
22. The prominent pre-historic site of Rajasthan 22. RSIRIA & T ‘Jﬁ — WREIRE wd
“Tilwara’ is located on the bank of which ‘Rrerarer f5g 7 & fearR Rera 272
river?
(1) Belan (1) e
(2) Ghagghar (2) TR
(3) Kothari (3) PR
4) Luni @) <0
11- & Page 5 of 32




23.

25.

26.

27.

28.

Name the woman who is famous as 23.

‘Pannadhay of Marwar’ for having taken the
responsibility as nursemaid of crown-prince
Ajit Singh?

(1) Gauradhay

(2) Hiradhay

(3) Durgadhay

(4) Sonadhay

In first phase of unification of Rajasthan, 24.

Matsy Sangh came into existence. Who was
appointed the ‘Raj Pramukh’ of Matsya
Sangh?

(1) Shobha Ram Kumawat

(2) Udaibhan Singh

(3) Tej Singh

(4) Gopilal Yadav

Match the following and fill in the correct 25.

answer with the code given below -
Name of Decadal Population Growth

Districts Percentage (2001-11)
(A) Barmer - 325
(B) Jaisalmer - 31.8
(C) Banswara - 26.5
(D) Jodhpur - 277
Code ~

(1) A, B and C are correct but D is wrong
(2) B, Cand D are correct but A is wrong
(3) A, B, CandD are correct

(4) A, B and D are correct and C is wrong

Turban of Mothare is worn - 26.

(1) on Holi

(2) in Shravan

(3) on marriage function
(4) on Sakranti

Who is the author of ‘“Hari Pingal Prabandh’, 27.

a biographical poem based on poetics?
(1) Jogidas Kunwaria
(2) IsarDan
(3) Kalyaadas Bhat
(4) Bhav bhatt

Which river is getting polluted due to the 28.

textile industry of Pali?
(1) Sukri
(2) Lilar
3) Jawai
(4) None of them

ORI & (HEO P JeM =R § 7oy
Y ARG § IR | T W D ST W
@ w1 ¥ fruer Frgfa g8
(1) OMRE FAEd
(2) SewE Rig
3) uw Rig
4) Mded Iieg
fFieiaa a1 Fhfera PR iR wd SR
a1 = iy 7 9 § 9ke -
et &1 SR SEEAT i
¥ wfoE (2001-11)
(A) TSR 32.5
B) TR 31.8
(©) FigarsT 26.5
(D) SRR 27.7
@_
1) ABIRCIHEAND Taiad &
(2) B,C3RD sl € R A Taq &
(3 A B,C3IRDwE &
4) ABIRD I & 3R C 7o 2
Higs B U UE ol & —
1) Bl ™
(2) smaur §
(3) faaEras W
(4) Wil W
‘gR Tt g’ -9 SiaTaRs favgs sl
BT TN NG PIF & P i &7
(1) wries garRar
2) R TH
(3) FEUER 4
@ w9 9=
UTell & TRAENT & BROT B IS Tgfd
ERE RS
(1) gt
(2 <l
(3) g
@ = 9 B =

11- ¥
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29. Which of the following statements are
correct? Select the correct answer from the
code given below —

(A) Mixed deciduous forests grow in areas
with rainfull exceeding 250 cms to
300 cms.

(B) In Rajasthan 27% of the forest area
comes under mixed deciduous forest.

(C) Trees in mixed deciducus forest shed
their leaves once in the raining season.

(D) Dhok, Sal, Bamboo, Khair etc. trees
are found in mixed deciduous forest in
Rajasthan.

Code -
(1) AandB
(2) AandD
(3) B,CandD
4 A,BandC

30. Who is considered to be founder of ‘Jaipur

Gharana of Khayal’?
(1) Himmat Sen
(2) Manrang
(3) Bhanu Maharaj
(4) Fahimuddin Dagar

31. In which insect order, front and hind wings
are the same in shape and size?

(I) Homoptera

(2) Isoptera

(3) Neuroptera

(4) Hymenoptera

32. Some insects are able to avoid freezing

because they can withstand supercooling as
they possess some cryoprotective compounds
in their tissue like?

(1) Sorbitol

{(2) Glycerol

(3) Erythritol

(4) AIll of the above

33. Fecundityis-
(1) The rate at which females produce
ova
(2) The rate at which females produce
new individuals i.e. fertilized eggs
(3) Both (1) & (2)
(4) None of these

29.

30.

31.

32.

33.

Frfolaa # @ HI9% ToF w8 87 <R3
T G ¥ ¥ 9el SN W gEg —

(A) Tl gass 99 250 ¥ ¥ 300
'\gﬁ.-\ﬂraﬁaaﬁmﬁm‘fﬁmﬁ
I

(B) woreIM # 9 &9 BT 27% T
T gdse 991 @ s smar 21

() faf¥ asts o=if § 997 Iuf =g A
TP IR A9 o AR 99§

(D) ©i®, Hie, 914, 8 NfE Ue oer=
¥ S uaste 99 § T W £

‘az\?'_..

(1) A3RB

(2) A3RD

(3) B,C3iRD

@ A,BsRC

‘;&lﬂiﬁ@gﬂfﬂ?ﬁ'%uﬂﬁ‘cﬁaﬂﬂﬂﬁaﬁ

P

1) &= e

(2) TT

(3) ¥ AN

(4) BEEN SR

frg @ie o1 § U SR Uz dm W

T AR PR H T @A &7

Q) AT

(2) IR

(3) RN

() TETA

PO BT oIS | g | WEH B 5, Fild

d e SvE BT AT BR B §, il

TP SHad 4 GB PAMCHET ARG B

TP -

1) R

2) Reradla

(3 TRRE

@) IRRe 9

W(m%ff

O ' T AIGT SUSY] S
&Hl &

() I8 R o W, =T 741 dafa s
YRR s dar o=l 2

3 =F (1) @ Q)
@ T q og T

11- 8
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34.

35.

36.

Which one of the following statement is 34.

incorrect regarding thrips?
(1) They have fringed wings with long
hairs.
(2) Have rasping-sucking mouthparts
(3) Have two segmented tarsi without
claws

(4) None of the above

Which one of the following statement is  35.

incorrect regarding storage houses to manage
stored grain pest?
(1) Temperature should be maintained

between 15°C to 40°C.

(2) Relative humidity should be
maintained below 10% RH.

(3) Oxygen level should be maintained
below 1%.

(4) Storage structures should be
fumigated either by ethylene

dibromide or aluminium phosphide.

The mustered sawfly, Athalia Jugens proxima  36.

lays egg -
(1) along the underside of the leaf margin
(2) along the upperside of the leaf margin
(3) inside tissues of the leaves
(4) inside tissues of the stem

ey @ dey # f=feRad § ¥ ST $oH
Ted 87
@ gaﬁm‘mmﬁmw?@ﬁ
|
(2) I [T @I &
() 1 U9 & EEvdly el W €
@) SWp F 9 B 98

HIRT IS Pic w&e & fog weror e
% 99y § fefafaa § @ o9 @1 s
e 87
(1) aHE 15 1S Sfeaaw ¥ 40 &0
AT & 97 e TRy |
(2) aNfds amtaT 10% REH 9 9= 291
MRy |
3 e o 'R 1% ¥ A" S
MY |
(4) ¥SRU =Rl aﬁma’rq@sﬁﬂ
SIAMIES AT T BRGSe
BN gi¥a far Wi =Ry |
mm FeqTieraT e Wi 8fe
1) P R S 1 S we
2) & wlT & SR B«
(3) TRl & AR & wae! A
@) T D AR P Sl A

37.  Which one of the following is 2 major pulse  37. fA=feRaa § & T (& I Soed e
feeder pest? & 87
(1) Rhizopertha dominica ) TSl ST
(2) Trogoderma granarium (2) rieal ™R
(3) Plodia interpuncteila (3) < EETCRI%GIT
(4) Callosobruchus chinesis (4)
38. Match List-I with ListIl and select the 38. Er—l Gl 1gﬁ—n a% |l Biferd 3R
correct answer by using the code given below g wa
the list - SR BT T DI
List-I List-IT iiclan | HR-1I
(A) Filiform Antennae  (I) Sawflies A) ffomH @ @ v
(B) Pectinate Antennae (II) Butterflies (B) ¥ v&mr ) Rrafewt
© gflotnﬂiform (III) Cockroaches (©) AFfeH t&  an) ReeR
ntennae . :
(D) Clavate Antennae  (IV) Dragonfly (D) Fiqe G ({Iv) frm
(V) Termites W)
Code - R -
A B C D A B C b
(1) IO I Vv I 1) m I \'/ 1}
2 m IV I I @ I 1 I I
(3) I v oI I (3) II v m I
@ o m v Vv @ o m v Vv
11- 8 Page 8 of 32




39. The first generation Bt cotton contain which
one of the following protein?
1) CrylA(c)
(2) CrylA®)
B) CrylA(©and Cry1 A (b)
4 CoylA (@)
40. The chemical name of Propoxur (Baygon) is-
(1) 3-isopropoxyphenyl N-methyl
carbamate
(2) 3-isopropoxyphenyl methyl
carbamate
(3) 2-isopropoxyphenyl N-methyl
carbamate
(4) 2-iscopropoxyphenyl methyl
carbamate

41. Which one of the following mite infests
sugarcane in the field?

(1) Schizotetranychus andropogoni
(2) Oligonychus oryzae

(3) Raoiella indica

(4) Oligonychus coffeae

42. Group of species exploiting a common
resource in a similar fashion is called -
(1) Community
(2) Guild
(3) Ecosystem
(4) Biome

43. Some of the following statements are given.
Identify the correct statements —

(1) Some insects i.e. praying mantids,
entertain and surprise us with their
fantastic life styles such as devouring
a mate during copulation.

(2) Some insects i.e. stink bug, flit around
releasing disagreeable odour in
danger.

(3) Some insects i.e. dragonfly larvae, use
a jet propulsion system to escape from
predators.

(4) Some insects i.e. dung beetle, fly
against burning light bulbs or into fires

Select the correct answer using the code

given below —
Code -
(1) 1and3 only
(2) 2,3 and4 only
(3) 1,2and 3 only
{4) All of the above statements

39.

40.

41.

42.

yed AT & 91 U 3 9 § 9 B

e qrar 87

(1) #E 1A (0)

(2) T 1A (b)

(3) #E 1A () WWHE 1A D)

@ ®E 1A @)

HriegR () BT RS T 8-

(1) 3—mEanbTdBd TT-Rmga
PIEHE

) 3mEandeHa fersa
BEHT

(3) 2—_MEEEYTEBEE TRy
FEHT

@) 2—EaNURIGS Fersd
BERT

Frafofeg § ¥ o9 Age o § T
@Y FIAT oRal 87

(1) SESRaFET TSNRET

(2) shfermea ARl

@) e oo

T WP 9 U IEFI GaEF BT |ied

HE qrell Yoifodl & HHE S &aT ollal o—

(1) 9™

@ s

3) uRRaft®r 93

@) IIH

FerfeRad § 4 o9 $a9 Ry v € <T@

FOF B TEEE T

(1) BB P IF1 UST Aicsd, IO
IFER Sigd el 9 B9IRT FHReH
3R & onvad Ofea B0 & o &
Ao & SRF Y& ARl BT @l ST

(2) BB DI IF IGYER T, GRS
T B BISA Y TER—R A |

(4) |B DT IE MR 47, Tod &Y
g«ﬁﬁraa‘sﬁﬁﬁmmamﬁ@ﬁ
|

9 R @ Fe FT W@ R FE SN

B

az\?_.

) Had 1 3R 3
2) ®ad 2, 3 R4
3 $aa 1, 2 3R 3
@) STRIE G4 <9
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44,

45.

46.

47.

48.

Ecdysone is synthesised by - 44,
(1) Corpora cardiaca
(2) Corpora allata
(3) Prothoracic glands
(4) Neurosecretary cells

As per classical practice in biological control,  45.
introduction of vedalia beetles are used as

natural enemies to control —

(1) Citrus blackfly pest

(2) Wolly apple aphid pest

(3) Purple scale pest

(4) Cottony cushion scale pest

Nerve poisons affect the nervous system 46.
mostly as -

(1) Narcotics

(2) Axonic poison

(3) Synaptic poison

@) All of the above

Which mosquito’s larval stage does not have  47.
a syphon tube for respiration?

(1) Aedes aegypti

(2) Anopheles stephensi

(3) Culex pipens

(4) Mansonia indiana

Which one of the following insect is being  48.
used in mass rearing of Trichogramma
species?

(1) Callosobruchus chinensis

(2) Sitotroga cerelella

(3) Corcyra cephalonica
(4) Plodia interpunctella

TFSTEN [H® §RT GYeil¥d giar 82

(1) DRURT BIfSABT

(2)' BRURT TaArer

(3 ureRfE Ul

@) RiRwded e

Wfew R 4 ukdE oI @ SRR,

(1) TES9 BT Gieh

) Tl vue gids dies

(3) WU Wl Gis®

@) FicH e o dew

3T {49 g 39 | e 9 oyl
P T, I —

(1) TR®IfeTFd

() e g

(3 Rrfes Ay

@) SuRh |4l

g wea7 ot @l smven ¥ waE & oy
WIS TYE 8l Bl 87

(1) TS g

(2) Tigeie W

) weEw =y

@) HrafEar SR

TIEGRHT Yoiifa & 58 UM ) gem
FrfeiRaa A & 59 Pie o swn B
ST <& 87

(1) degea Rk

2 REErT Werem

(3) DNERT ABAT

4) <hifsar gexdaeen
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49. Some of the following statements are given. 49. F=faReq # & ¢v ‘Hem Ry Wy §| @&
Identify the correct statements - Bl B LRI

(1) Recombinant baculoviruses are being (1) AR® T B 99 IR JoWH H @m
constructed to increase the killing & FT P BT B RN T S
speed of them and reduce feeding YBIEEERE ST o fear W e &
capacity of the host. @) TERSE APAERRE ¥, FEmRar

(2) In Recombinant baculoviruses, gene IR IRE TR BT FEET F9 B RF
deletions never been evaluated to S Rl B geuieE w6 T e
observe efficacy and killing speed. T

(3) In Recombinant baculoviruses, many @) T T o 3 R Tt
exogenous genes from different origins & @ sRlT o7 @ ;
have been successfully inserted. N ——

(4) In Recombinant  baculoviruses, i 5 afesti e
exogenous genes encode insecticidal P o
bio-active  substances such as
neurotoxins, hormones and enzymes.

Cackd
Select the correct answer using the code
given below — TR T T S
Code - ;frq_

(1) 1,3 and 4 only (1) w9 1, 3 3fw4

(2) 1and3only 2) daa 1, 3R 3

3) 1,2 and 4 only @) e 1, 2, @i 4

(4) All of the above statements R ey —
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50. Match List-I with List-IT and select the 50. ¥EI-I bl G-I & T Al HIRA aliv
correct answer by using the code given below I 33 ™ G o ST B g1 w9
the list - TR DI I BTG —

List-I List-IT -1 11
(A) Polygyny (1) Males mate once; (A) TR (1) R TP IR H9
fernales are BRI T | AW B
variable in mate AT G
mumbers. aRacetier 2 |
() Folyendy (2) Both sexes have ®) defed (@) < R
| gRaeie
numbers; male 2 )
mating success is | oY
approximately Hﬁl el .Efl T
equal to female
mating success. etdl Z% SistaY gl
(C) Polygamy (3) Both sexes have (C) el 3) Eﬁf'ﬁ foft & i
variable mate e R
numbers; female 8| wfear T
mating success is Wheral JOF FHRT
more variable HheTal B ol A
than male mating AP TRacEi
success. 21
(D) Polyandrogyny (4) Females mate (D) TUiNT=ErTE (4) HIET UF a° GHIT
once; males are Bl §1 ToSl B
variable in mate FART deET
numbers. aRadTEi 2|
Code - —-—
A B C D & A B C D
@ 2 3 4 1 @ 2 3 4 1
2 3 2 1 4 @ 3 5 ) 4
&) 4 ! 3 2 3 4 1 3 2
4 1 2 3
@ 4 4 4 1 2 3

51. Who proposed the flying-squirel or S5I. ®iel # 9@ ¢ SURT @ Hay § GelgT
paranotal theory regarding the origin of Reawa 9 tnFiee Rigla feem fGar
wings in insects? 1) fAaeR

(1) Miller (2) TR AR B
(2) Averof and Cohen (3 FHIAT—ID
(3) Kukalova-Peck @

(4) Trueman iﬁ?

52. 'The nozzle used for spraying herbicides 52. Wl & fosam & v wyw iwd

is - B
(1) Shear nozzle M) ¥R Hea
(2) Solid cone (2) sifers B
(3) Hollow cone (3) e B
(4) Flat fan nozzle @) T B9
11- 8 Page 12 of 32
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? 53. Who is the author of “Silent Spring”? 53. “Wigcic BT @ o@d S &7
(1) D.G. Crosby (1) <. S B
(2) Rachel Carson (2) Bl B
(3) T.A.Loomis 3 <. T qﬁm
(4) H. Muller (d) TE. qor
54. Which one of the following insecticide is 54. f=ifailRag ¥ ¥ @9 1 PleAme R A
widely recommended against termite control 9 g & Raaes @me wY 9
in India? il 87
L (1) Fonofos (1) BB
L (2) Fenthion (2) SRR
(3) Diazinon () TEREE
(4) Chlorpyriphos @) TR
55. Tricogramma is a- 55. TG 6 a—
(1) Adult parasitoid (1) 9955 ROl
(2) Egg parasitoid (2) sier gl
(3) Larval parasitoid (3) <ral uReldT
(4) All of the above @) TRRE G
56. Indian Institute of Toxicology Research was 56. iU §¥IcyT oif® cifeaaiaion Rad 31
established in- T g8 ofi-
- (1)” Lucknow (1965) (1) o= (1965)
(2) Delhi (1970) (2) el (1970)
(3) Guragaon (1965) (3) TsuE (1965)
(4) Hyderabad (1970) @) ¥ETE (1970)
N 57. Some of the following statements are given 57. <@ & Y0 & Wy #§ (=faRaa 5 wem
regarding properties of Lac. Identify the Qg 1Y €| o Ul B UEaE P
; incorrect statements- () @ gt d geaesha & e
"' (1) Lac is soluble in water but not soluble epretel 4 gariier e 2
in alcohol (%g@ﬂﬁmﬁrwwﬂﬁﬂam
. . . . |
5 (2) Lacis easily ﬁ‘,151ble 01.1 heating 3) g 3 AT T T
(3) Lac has adhesive quality o
O 4) v O B (edieid @ AR e
(4) Lac don’t have binding property when ST & a7 9 T o7 T v
1 mixed with alcohol &
(5) Lacis good conductor of heat (5) 9 &S Bl Aol 21
(6) Lac is strictly insoluble in weak alkali (6) N IMIFAT SIY BN &R § I
like ammonia ¥ g Bl
Select the correct answer using the code 9 QU A7 g @ FERT B GE SR
given below — -
Code - qE —
(1) 1,4,5 and 6 only (1) daaT 1, 4, 53R 6
(2) 2,4and 5 only () Daa 2, 43R5
(4) All of the above statements @) TR G T
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58. Steinernema glaseri, acting as a biocontrol 58. SIUF! dica U9 BT AHHT B d—IBoict
agent by infecting Japanese beetle grubs, is a- Wic @& w7 § o B diell EAA
(1) parasitic nematode TN, TF B—
(2) parasitic insect (1) e fres
(3) parasitic bacteria (2) R Bl
(4) parasitic fungi (3) TReiEr SR
4) WSS BaB
59. Which part of insect body, contains 59. BT IR T B9 I § Si~geT &7 T
Johnston’s organ? grar 87
(1) Coxa (1) S
(2) Scape (2) Y
(3) Pedicel 3) fePa
4) Anmuli @ T
60. Full form of MRL is - 60. MRL &7 Gl BIH § —
(1) Maximum Resistance Level (1) IAHTH Uik 'R
(2) Minimum Residue Limit (2) =G SERIY A
(3 Maximum Residue Limit (3) frmaH 3EEy WA
(4) Maximum Residue Level @) IRBaH €Y R
61. In which period, wingless insects are 61. fPW @ § d&EH Bt &1 RH™ gow
supposed to be evolved? o7
(1) Devonian period 1) <aEE B
(2) Silurian period @ ﬁgﬁ‘q—q BT
(3) Ordovician period (3) eIl T
(4) Carboniferous period (@) FEEDTT Pl
62. Which one of the following insecticide is 62. T=fRad ¥ A B ¥ Be¥G B STRT
animal origin? Wi ¥ 27
(1) Nereistoxin 1) AR=ifE
(2) Kelthane (2) HeAM
(3) Parathion 3) Wit
(4) Bufencarb @ g@q—ﬁé
63. The phenolic compounds, produced by the 63. Ul NI, 99& MU B9 W I7 el ERT
plants when they become diseased or are T ) oM R, ISl gRT e TJHA
attacked by insects to resist further damage I TOE @ ol R it dffet @1
by pests, are called - SR 647 9 7, FEan § —
(1) Phyotodispensers 1) BESERR
(2) Phytoalexins (2) BEATAE
(3) Phytoporins (3) BEeNIR
(4) None of the above @) SR § & S T8
64. Which of the following species of flea, have 64. g o1 F=fafag § § 59 wenfa &1
a public health importance? ST eI 7ad 87
(1) Xenopsylla cheopis 1) SeIfEeT Taifts
(2) Xenopsylla astia 2) Sftger gdlen
(3) Nosopsyllo fasciatus 3) AR mifgeg
4) Al of the above @) S a
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65.

Pusa bins for storage of food grains are 65.

e & YRl & foy o & R fhas

developed by- R i &y I 87

(1) G. B. Pant University of Agriculture () shdl. da o aiw =R
and Technology, Pantnagar fo=afaere™, daw=

(2) Food Corporation of India (2) 9RdE wE Frm

(3) Indian Agricultural Research R T I,
Institute, New Delhi @) ool i s

(4) National Research Centre for W . TSRy
Integrates Pest Management @ WES?E (;?E:{M;% fere
(NCIPM)

66. Match ListI with ListIl regarding to 66. &g BHICAEDB R T e Trgp! &
microbial insecticides and their target pest. day # @1 o @1 S 9 gafed
Select the correct answer by using the code | P D A RY T gE B R e
given below the list - TE SR gAY —

List-I List-II Ll | -1
(A) Lepidoptera virus (1) Mosquitoes (A) AN IR (1) TSR
(B) B. thuringiensis  (2) Tobacco 3 gjﬁﬁrq[%\qq CISPT gea/
var. tenebrionsis budworm ® j:—\r B T Iea bl @
(C) Helicoverpa virus (3) Colorado (C) orPEdf IRRE  (3) BIERS! ae
Potato beetle ' o
(D) B. thuringiensis  (4) Beet ©) . gRAPE  (4) dic el
var. israelensis armyworm T:I'R' ToREIRE
Code - — Tt
A B C D o A B c D
a1 3 1 4 2
a 3 1 4 2
2 3 4 2 1
2 3 4 2 1
3 2 4 3 1 G 2 4 3 1
@ 4 3 2 1 @ 4 3 5 1

67. Some of the following statements are given 67. WWIRT 47 & Hey ¥ F=feiRgq 4§ & @B
regarding Khapra beetle. Identify the correct AT T B S wEl @ usEe
statements — BN —

(1) Khapra beetle is a primary pest of (1) GO YT 4SlRa =S B ARG
stored grains. Fe Tl
(2) Only larvae damage the grains and (2) Pac o6l [ BT JHAH UgaAN &
aduI); don’t feed. s & 3R 79w 78 U *sg' l
(3) Larvae cannot tolerate temperature (3) <Imat 27 {30 Afcas & ot aoee
more then 27° C strictly than die P A& G GET el B GH 3R
(4) They congregate in cracks and are W S &
very difficult to remove by ordinary @) 9 ®RI F T BT § SR amwer
sanitation. WEFAT §RIT [l 954 JR@e iar
Select the correct answer using the codes 7|
given below — A Ry T HE & W e Al S
Code- FAg —
(1) 1,2 and 3 only B
(2) 1and 2 only (1) BaeT1, 2 3R 3
(3) 1,2 and 4 only (2) Badll I 2
(4) All of the above statements () Pad 1,23k 4
(4) SWRih |l BT
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68. Which one of the following is a carrion 68. iR ¥ ¥ @ & Ha SiEal &7
feeding insects? MW 6N ARl BIC &7
(1) Blow flies (1) <o Foig
(2) Common Green bottle fly (2 FaT M= Fad v
(3) Fleshily 3) T FIE
(4) All of the above @) SR T
69. In which year did Indian Government passed 69, ¥RT ¥ HESH B U fBdl @ REEES
“Destructive Insects and Pests Act” to BIC B YU B Vb B 17 ARG PR 3
prevent the entry of any destructive pest in f&w 7Y “frer P ik A AR
India - IRa -
(1) 1911 ) 1913 (1) 1911 @ 1913
3) 1914 @) 1916 3) 1914 4) 1916
70. The effectiveness of insecticides in the field 70. HEaf 25_ e dienl & Roam @q ﬁ
against insect pests of crops is determined PICARIGT B FHGEear &1 fFuRer B §
based on - & R oR fpar ir 82
(1) Reduction in the actual population (1) Tafds vEE=r TuEp
counts at periodical intervals AR—H] ) BE
(2) Percent damage (2) wfera &fy
(3) Yield differences (3) U SR
(4) All of the above @) SRS G
71.  Life cycle of tick includes- 71. fe% & SiiaT o § wmite & _
(1) Egg — 8 legged larvae — 8 legged (1) sieT — 8 <Ml arel oal — § et
nymph — 8 legged adult qrell 9% ~» 8 ST a1er g
(2) Egg — 6 legged larvae — 6 legged (2) sisT — 6 ST 9ren @El — 6 S
nymph — 8 legged nymph — 8 qredl 7126 — 8 ST arelr F7p — 8
legged adult S 91T D
(3) Egg — 6 legged larvae — 8 legged @3) afer — 6 il g wEt — 8 S
nymph —> 8 legged nymph arel v — 8 ST arer auw
W Py 2 O weged farvas > 6 legged @) it~ 6 it AT ol — 6 it
arelt 7196 — 6 T are Tu%e
72.  Match List-1 with List-Il regarding to lure  72. WS&! &1 guM ik oG o9 @ NEEH
and their target pests. Select the correct g‘rﬂ—l B E-0 S | gARka o | gl
answer by using the code given below the list S HE I FART B TE IR
- gﬁq —
List-I List-II -1 -1
(A) Heli lure (1) Earias vitella (A) Bell R (1) TR foeen
(B) Ervit lure (2) Heliothis ®) W = @) Rk
armigera JTREIT
(C) Erint lure (3) Pectinophora (C) e =R (3) EamRT
gossypiella ENSICING
(D) Pectino lure (4) Earius insulana :
Code - (D) At wgr TR AT
A B C D K
A B C D
@ 2 1 4 3 @ 2 1 4 3
2 2 4 1 3 @ 2 4 1 3
@ 2 4 3 1 3 2 4 3 1
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73.

74.

75.
76.
: 77,

s N

When one predator species disrupts the
ability of another predator species to capture
and consume prey, such type of interactions
among predators within complex food webs
are called -

(1) Additive interactions

(2) Antagonistic interactions

(3) Synergistic interactions

(4) None of the above
Pheromone traps are used to trap, which one
of following stored grain pests?

' (1) Sitophilus oryzae
(2) Tribolium castaneum

(3) Trogoderma granarium
@) All of the above

Nationat Research Centre for Integrated Pest
Management (NCIPM) was established in
.......... andin ....oeviunee... 2 year

(1) Delhi and 1988

(2) Delhi and 1987

(3) Gurgoan and 1987

(4) Faridabad and 1989

Microinjection is employed for the
production of transgenic -

(1) Cotton (2) Tobacco

(3) Tomato @) Rice

Which one of the following statement is
correct?

(1) Chitin is a high molecular weight
polymer of anhydro N — acetyl - D -
glucosamine and D-glucosamine
linked through 1, 4 B glucosidic
bonds.

(2) Chitin is a low molecular weight
polymer of anhydro N — acetyl = D -
glucosamine and D-glucosamine
linked through 1, 4 « glucosidic
bonds.

(3) Chitin is a high molecular weight
polymer of anhydro N — acetyl — L. -
glucosamine and L-glucosamine
linked through 1, 4 [ glucosidic
bonds.

(4) Chitin is a low molecular weight
polymer of anhydro N — acetyl — L -
glucosamine and L-glucosamine
linked through 1, 4 o glucosidic
bonds.

73.

74.

76.

71,

e Yo TRl Telia RieR @ geed 3R
ST B & ol = gl wenfa &
AT Bl 9IS Bl 8, 59 UBR BT oice
e Silel § 1NueEll Hey w7 el &7
1) Q@rﬁﬁﬂaj
(2) TemifaRas dey

(3) R=ivRes sy

4) SR® 5 DI 8l

ORAM £9 &1 SUArT FfaRag § 9 5
%ﬁﬁ? @ BT BT o¥ B b fow T

(1) WEclithed AR

) feaiferas e

(3) erieal WRkEm

@) SR Wﬁ?ﬁlﬁ _ _ 5
AL T R ST
(NCIPM) &t IO ....... TR H BN o
T H Py S oY)

@) fdeelr 3l 1988

(2) T iR 1987

3) TsTa AR 1987

4) wWicErE 3k 1989
AISHhISoi®E & ST Siasie Bad ©
Weure & foly wgad BT § —

(1) U™ (2) a1

(3) Tarc} @) =Eaa
ffaRed § 9 @19 91 woF 8 &7

(1) FERT TeEs! N— WeEd —D

(2) PRRT TERES N — WieEda —D
e[ IAIST
@) ke TTEEs! N — wesd — L

@) TERY TRES N
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78. Who proposed the concept that any two 78. TH4+ 9 SR Bl Wliad {&ar f& a8
species, can live together indefinitely or a A | yonfam, @ GifRg WM W
single limiting resource. Coexisting species fR=a ®le de U6 AR T8l 8 95l 8 |
with similar ecology are typically found in aF giRRefda arell ge—eiRdw a1l
different microhabitats? TR AT AR ) RS T A= § IS

STl €7
(1) D. Pimentel < =
(2) L.C.Birch ) T 9. RF
(3) G.F.Gause x
3) il UF.
(4) H. G. Andrewartha i 4; T Q;;- g;ﬁl‘f

79. Chagas disease is transmitted by- 79. T T fHES §RT BerT 37

(1) Ratflea M = g
(2) Hard Tick (2) =%
(3) Reduviid bag 3) ISfas I
(4) Housefly 4) TSY HeEl

80. Which one of the following sequence is 80. It # AR SUNHY HihaT B e &
correct regarding to malathion metabolic Freifeiaa 3§ 4 $I9 |1 B9 96 87
process in insects? @) AR - TEfrRgd

(1) Malathion - Dimethyl JBIERING R — SEMRuEd
thiophosphoric acid —» Dimethyl BRGIRG YIS — BROING TRE
phosphoric acid — Phosphoric acid — HeRiaa
— Malaoxon @) fePrm — sEfEd BEEIRS

(2) Malathion — Dimethyl phosphoric e — W ARNBRFIRG
acid — Dimethyl thiophosphoric acid ? [EIEi -  FEIRE e
— Phosphoric acid — Malaoxon

,p ] @) et — daEleE —

(3) Malathion — Malaoxon — Dimethyl SRS TEERERS RIS —>
thiophosphoric acid —» Dimethyl sEheEsa oReRTE TR —
phosphoric acid — Phosphoric acid BHIBIRG TS

(4) Malathion — Malaoxon — Dimethyl @ Jeirm — TR -
phosphoric acid —  Dimethyl s eoRe e —
thiophosphoric acid — Phosphoric SEMATSE JRBRPIRG R —
acid PERIRG TRS

81. Agrobacterium based transfer include ........ 81, UNHEIRTT IMIRT WFiERT § ST
to carry DNA into plaats. Bl UEl H @ 9 @ oy uge Blar § —

(1) Electric current (1) faga awr

(2) DNA coated gold particles 2) SivEx. T @l & @

(3) Tiplasmid (3) <3, wnfodas

(4) Vector 4) dED

82. Who defined the toxicology as “The study of 82, T&g 0¥ A o1 “fel TH™T AT =
limit of the biological effect of a chemical or & R & Sifde v @ S B s
mixture of chemical”? % w9 A fram aRenfa famar 27

(1) Lax Cornelia (1971) (1) <a sRAfET (1971)

(2) Sun (1968) (2) &7 (1968)

(3) Fogleman (1963) 3) BITTAAT (1963)

(4) Du Bois and Gelling (1959) @) < dfs9 3w RRFT (1959)
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83. Which one of the following statement is 83. f=feilRed § @ @9 1 BN TTod &7
incorrect? (1) DA & PR, ST BT TAF
(1) Due to selectivity, each strain of Bt is [T Bad Hiel & (& e OE
capable of affecting only a specific Y FATET R o GEH B
group of insects. @ & 3w B R i) AYer @
(2) Bt is also considered non-toxic to AT ST B
bomans. , @) O W W 9e S Rw D v § o
(3) Bt acts strictly as a stomach poison. T &
(4) Diamondback moth was found highly AT
susceptible to B. thuringinesis @ et ﬁm:;ar Wg & for afy
kurstaki toxins and never observe to '\Eléﬁ?r%ﬂ?«r N wRRE
show resistance. R @ énﬂﬁﬁﬂm;ﬁmé@ T |
84. Semiochemicals can be used as — 84. SEFREEl BT SUART fhaT W e B, Y
f& —
(1) Biomonitoring Q) sEEieRT
(2) Mass trapping (2) =9 ST
(3) Mating disruption (3) T ey
(4) All of the above (4) SWRrE T
85. Match ListI with ListIl and select the 88. Qfﬂ—l @ gcﬂ—n T T B &R
correct answer by using the code given below e g el
the list - G?l'\’ ST T a‘»’rﬁﬂq -~
List-I List-IT -1 TH-1I
(A) Thysanurans (1) Sucking lice (A) JEERRF (1) 999 9l T
(B) Anoplurans (2) Springtails (B) Q?ﬁfq{l_-\ﬂr (2) Teieed
(C) Siphonapterans (3) Scorpion flies (C) IETNRRI  (3) IR wegs
(D) Mecopterans (4) Fleas ) ﬁﬂﬁ@ﬂﬂf{ ) freg
(5) Stoneflies ‘ e
Code - — ©) i
A B C D “ A B C D
2 > 4 ! @ 2 5 4 1
2 5 4 1 2 @ 5 4 1 2
3 4 1 2 3 3 4 ) 2 3
4 2 1 4 3 @ 2 1 4 3
86. Primary vector of Japanese encephalitis 86. GIOFI SRIBISCH T 6 MARF s
disease is - T —
(1) Culex mosquito (1) Teiaq AR
(2) Aedes mosquito (2) TSI9 7R
(3) Anopheles mosquito (3) THifthel 78R
(4) Monsonia mosquito @) FFEaET TR
87. In which type of head, the sucking 87. %9 worR & R ¥ W™ & |~ 9w
mouthparts with the proboscis extended back gl @i o & R/ B 9 99 @ eiR
between the front legs? Hel §¢ B 87
(1) Prognathous 1) v
(2) Hypognathous (2) TEUFRN
(3) Opisthorhynchous (3) sifReRow
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88.

89.

90.

91.

During production of honey, by honey bee, 88.
sucrose is converted into -

(1) Dextrose

(2) Maltose

(3) Levulose

(4) All of the above

Which one of the following statement is 89.
incorrect?
(1) Pro-haemocytes are the stem cells,
from which other haemocytes are
derived.
(2) Granulocyetes are phagocytically
active and adherent types of cells that
contain large number of intracellular
granules.

(3) Plasmatocytes are large cells that

non-adherent type of cell.
(4) Oenocytoids are non-adherent cells
that are defined functionally as
constitutively contain phenoloxidase
activity.
The Parliament passed the Insecticide Actin  90.
which year?
1) 1967
(2) 1968
3) 1971
@) 1974
Screwworm fly, a parasite of cattle, was 91.
successfully eradicated from Florida with the
help of -
(1) Chemical Control Techniques
(2) Microbial Biopesticides
(3) Sterile Male Techniques
(4) Mechanical Control Techniques

FI foad uRafda fear srar 87

(1) SEE

(2) ¥

(3 wigarg

4) SRIE T4l
frrfafad § 9§ 919 1 ®eF TTdd 8¢

(1) N—ENEcE @ SIReH €, R
=T SIS SE el § |

) ErEey ¥ w0 9§ 9 ik
I UHR B BREH € W
T & ¥ AR FU Pr
Tl B

3) <reNTsed 9E1 BiREE a8d g,
S 5 IR TR B PIRGR
Bl &

@) SEANTETESY IR — ANE THR
¥ iR § o 5 suee e
¥ v HwHe dk 0w
rieaey  afpaar  oRaifa
F B

|9 gRI, dleae AR g of §

Tiie fasar war on?

(1) 1967

(2) 1968

(3) 1971

@) 1974
HARRN & WOl T T @ fewar
A5G ¥ TRl ¥ Whelagad qars fear
T oY

1) EEFS FREEE &S

(2) FEHIE JENENESY

(3) =7 Y IS

@) FitFs FEFe ekl
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92. Match List-I with List-Hl and select the 92. G-I & G~ & ART FARKT DI 3R
correct answer by using the code given below Qﬁﬁ 3 9 few g ®HT Bl BYINT HA B¢
the list - GE ISR L
List-I List-1I a1 a0
(A) Dimilin (1) Specific against (A) sefafes (1) BHRFT &
homopterans Raamw faldre
(B) Methoprene (2) Mosquito (B) #rmhi= (2) TR i
growth regulator e
(C) Diflubenzuron (3) Chitin synthesis C ET%GE@WB‘F[ 3) BRERA WIom
blockers © G) AR
(D) Kinoprene FrEAE
Code - g _
A B ¢ D A B C D
1vn 2 1 3 2
@ 2 1 3 2
@2 3 2 2 1
@2 3 2 2 1
3 3 2 3 1
@ 2 ] N 3 @3 3 2 3 1
@ 2 1 2 3
93. Transgenic rice containing Cry Il (2) geneis  93. 1% 1l (2) <9 I g a4 foas
resistance to - forg ufe=eEl 87
(1) Ostrinia pubilalis () siiRgtar Tafes
(2) Scirpophoga incertulas (2) THUIBIT SRR
(3) Spodoptera litura 3) WERY ey
(4) Helicoverpa armigera @ ERreEdt smeRT
94. Paris Greenisa- 94, uR¥ W & -
(1) Contact Poison 1) ua fay
(2) Respiratory Poison (2) @G 4
(3) Stomach Poison (3) U @ Ay
(4) Both Contact and Respiratory Poison (4) 9 3R <qu9 fay <1
95. Which cne of the following insecticide 95. f=ifafgg & ¥ @& w1 Fows
belongs to Organophosphate group? JANImESe OE 9 WElE 87
(1) Monocrotophos (1) AR
(2) Endosulfan (2) VSTEE
(3) Carbaryl () THERa
(4) Kelthane @) s
96. Bt cotton approved for commercial 96. T Bicd B ARG F TS W B AT
cultivation in India in - Aol o9 Heli?
@) 2001 (2) 2002 (1) 2001 (2) 2002
(3) 2003 (4) 2004 (3) 2003 (4) 2004
97. Which oil act as a repellent for mosquitoes? ~ 97. ®IF T O TORI B o7 WSt WA 87
1) e BT o
(1) Linseed oil @) RreR o7 9
(2) Cedar oil @3) faeeh @1 A9
(3) Sesamum oil R
(4) Citronella oil @ o=
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98. Spiracles are generally found on - 98. WENHed AR TR U 9K & —
(1) Abdomen only P (1) 94 SR WN
(2) Thorax and Abdomen (2) T IR SR T
(3) Head, Thorax and Abdomen 3) RR 97 R S R
(4) Head and Abdomen @ RRIARST=
99, Match ListI with List-I and select the 99, WEi—I & G-I & ARI GAHG SIRE X
correct answer by using the code given below T il ™ g @1 FAT HA 'g"f{ & I
the list - BT AT DINY —
List-I List-IT qliﬁ_]: '\li-—;ﬁ_n
(A) Raptoriallegs (1) Cockroaches (A) YeiRad W (D) foeme
(B) Saltatoriallegs (2) Mole Cricket B) UaRIE iR (2) Hia fvae
(C) Natatorial legs  (3) Water Beetles (©€) TerRRae R @) dfex fiea
(D) Fossorial legs  (4) Praying Mantids D) PrIRTe Ix @) R ks
(5) Grasshoppers et
Code - e - ©) @)
A B C D «
A B C D
1 4 5 3 2
g0 4 5 3 2
2 5 4 1 2
3 4 3 2 1 @) > 4 ! 2
@ 2 3 4 5 3 4 3 2 !
@) 2 3 4 5
100. Which one of the following is not a larval 100. FrfeRad ¥ ¥ HF-91 & @l WRelfidl
parasitoid? T8 87
(1) Allorhogas pyralophagus (1) TARERN USRI
(2) Stunniopsis inferens (2) wf~iftaa s
(3) Telenomous remus 3) <oiHmEg dma
(4) Euceletoria bryani @) aﬁz‘rﬁ‘m AR
101. Tn house flies and resistant insects, DDT is 101. Re] Aol ik TfRET wiel 4 SISIElL
converted into - gRafla g & —
(1) Dichloro benzophenone (DBP) (1) SEFERI SwoirprHE (SidL)
(2) Dichlorodiphenyl acetic acid (DDA) @) (%é@aah i)l@ls‘lfli e TEieE YRS
. . . S,
(3) Dichlorodiphenyl dichloroethylene _—
(MDE) ? e
(4) Dichlorodiphenyl dichloroethane @ ém%m RN S
(DDD) A=)
102. Altosid insecticde mimics like - 102. IR PeARE THA B 8, W4 —
(1) Ecdysone hormone (1) TS sEN
(2) Juveline hormone 2 @ﬁﬁ BEM
(3) Chitin synthesis inhibitor (3) @il Tl IARIND
(4) Acetyl-CoA @) TR CoA
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e 4

. 105.

106.

107.

110.

103.

104.

108.

109.

‘Which one of the following is not a botanical
insecticide?

(1) Nicotine

(2) Sabaidilla

(3) Rotenone

(4) Vendrex

The genes encoding cysteine protease
inhibitors used in transgenic plants for the
control of -
(1) Dipteran pests (2) Lepidopteron pests
(3) Coleopteran pests (4) Hemipteran pests

Crickets belongs to which family?

(1) Gryllidae (2) Tettigoniidae

(3) Acrididae (4) Phasmatidae
A symbiotic association in which one species
has a negative effect on the other, but there is
no measurable reciprocal effect, is called-

(1) Commensalism

(2) Amensalism

(3) Antagonism

(4) Parasitism
In DDT resistance house files, Kdr gene is
responsible for-

(1) Nerve insensitivity

(2) Suppression of DDTase enzyme

(3) Suppression of Carboxyesterase

enzyme

(4) None of the above
The term ‘microbial control’ was first used
|32 in the year 1949.

(1) Steinhaus

(2) DeBach

(3) House

(4) Williams
Foregut and hindgut of insect’s are ..............
and ... in origin, respectively.

(1) Ectodermal and Endodermal

(2) Ectodermal and Ectodermal

(3) Ectodermal and Mesodermal

(4) Mesodermal and Endodermal

Which of the following is not a convex vein 110.

in insect wing?
(1) First cubitus (Cui) vein
(2) Second cubitus {Cuz) vein
(3) Costa vein
(4) Anal vein

103.

104.

105.

106.

107.

108.

Feafeed 4 9 s o a=ais
PICAETD 8] 87

Q) Ferds=

(2) Ffee

3) WA=

@) dge

S THleT RSN wifets sakfiier &t
TN gioifAe ol ¥ feas ez & g
T T 287

) B des (2) ey dew
(3) I GsF  (4) IR Yew
frdca 59 go 3 Gdfa 872

1) ey ) fem=<

(3) RIS @) BaeS

TF Aol gay, O e uefy 'Ry
TPRIAS T Sl 8, Afd AT
AR YRERE WIT FE] BT &, Pedrar 8~
Q) TE«ifsEr

(2) s

3) wf=wEm=n

@) uSidgRT

DDT % uitRrl =R #fdgaf &, Kdr o=

R gar 8-
Q) <f¥er sddgTEien
(2) DDTase T~IgH Pl SH
(3) TEITITRIS THEH BT <
4) S § J D15 8

S PRI T BT TR A ...
« BT 9§ 1949 ¥ fébar w47 o)

1) weElg

2 &9

3) ES™

4 fferrg

Fel © AT AR UTIRiH FA: ...
51 £ I« ¥ B F|

(1) veereHd 3R Teeda

() TEISTT iR TRIsdd

(3) vEeieEd R Aeieda

@ AN ok T

Frafaies § 9 oF Fe 99 4 Sa9a BRr
& &7

1) 9o RV (Cur) B

2 fedg R/ (Cu) B

3) @< BRr

@) a1 R

1- 8
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111. Which one of the following statement is 111. Tr=faReaa F & S T @ &7
incorrect? (1) TR SRSIBET DleANE TN
(1) Chlorinated hydrocarbon insecticides g O6 B d = = R
persist in the soil for a longer period. Q) <EmEE P BE 9 R O
(2) Dalapone insecticide persist up to 9 g AT B
months 10 the sol. (3) siiwEbea ik Frefica P
(3) Organophosphates and Carbamates 4N aﬂél'cﬁ T2 v -\qﬁ £
persist not beyond 4 months in soil. @ Y5 T
(4) All of the above
112. Cryptonepheridial  amangements  of 112, ¥o0ftRT “Haeml & IbembITd
malpighian tubules is - TR & —
(1) The distal ends of malpighian tubules ) R afeert & B RN ¥R
are lying freely in the body cavity. P &I ¥ wdy B 9 US Ed B
(2) The distal ends of malpighian tubules 2 Yediftee Feril ¢ sRg R
are embedded in tissues surrounding TAE F ARl ONE ® Sddl §
the rectum. aafiRT B £
(3) The distal ends of malpighian tubules S afait :
are embedded in ventriculus part of & 3 Ifeaw B Eg m %ﬂg
the gut. | 2
(4) None of the above @ QB
113. The colour of label for highly toxic 113. IFURT YA Fearh & fAw wga wded
insecticide is- B T Bl 5—
(1) Red 1) &
(2) Yellow (2) den
(3) Blue (3) e
(4) Green 4) =
114. The origin of European Bee (Apis mellifera) 114. g\?’f‘fl’q wadl (U Afews) & SR
is - —
(1) Germany @) SR
(2) Italy (2) scalt
(3) Spain (3) T
(4) France @ wig
115. Which one of the following statement is 115. FrfaRaa ¥ & & &1 oo W 87
correct? (1) gEifsan H&Iﬂiﬁﬁ & fom sufts
(1) Sabadilla is highly toxic to honeybee e 2T 2 3N 39 Pad TH B
and should only be used in the g & A S - wiEy |
ovening (2) wEfSar RS B Ve AR gar F
(2) Sabadilla degrades rapidly in o ¥ @RE w oEr § R 9E
sun.léght and air leaving no harmful TReRE I3 T8 B 21
residues. A (@eaimie
(3) Sabadilla come from the seeds of a @) H‘iﬁﬁlﬁﬁ)?%ﬁﬁg a2
lity (Schoenocaulon officinale)
(4) All of the above ) S Tl
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116. Which one of the following insect toxin gene, 116. 928 ¥ S fFmfaReT # | fa @oie fay
originated from Scorpion, was used to I & START I €aae (erMiieieieg
develop Recombinant entomopathogenic Haw Aol o= & Ty f&ar ar a?
fugﬁi? 2 AalTI (1) TFIR7 (2) TEaEll

TLR7
3) fIRI 4) HigemEdil
(3 Prl (4) CHIT1 )

117. The raw lac obtained from the twig of host 117. ¥SEM WY & <&l ¥ MW Feai o
plant is called-. FEA 8—

(1) ButionLac (2) SheetLac (1) 99 drg ) diie g
(3) Shell Lac (4) Brood Lac 3) I d" @) g @™

118. When recombinant entomopathogenic agents 118. 4 T7: §aoid YMANING SRS &I
are compared with non-recombinant, they AT IR~ oid & AR B o 8, al
have many advantages such as - q B% BRIC &Y & oY 6 —

(1) Lower spraying requirements and 1) B9 BseE B AEE@FEar AR
long-term persistence Adwifes gedn

(2) Lower insect resistance and higher (2) F9 P IR ok S= wEeRe
efficacy ~

3 Fic FiRr 3K S R

(3) Higher insect resistance and higher ( 4) ?Tﬂ'\f 2y A
efficacy @) 2

(4) Both1and2

119. Laccifer lacca secretes lac for — 119. <ifRTwR o9, o feae forg g wear
8?7

(1) Protection (1) E==

(2) Reproduction 2) voH

(3) Food (3) eF

(4) Attracting the microbes @) IR @Y A B @ Ry

120. Cantharidin is derived from blister beetle, 120. HURRT farwer diga J wra & &, @

used as - SN 9 UPR fhar wIar & —
(1) Aphrodisiac (1) BEETE D &I §
(2) to care respiratory problems () TiF P TS P EE B B
(3) to care allergic reactions ferg
(4) to care arthritis problem (3) Vol @1 gA e @ fog
(4) TSI B IR B Sid P B g

121, The lowest number of insects that will cause 121. @ISl & <[FAqH HE o e &fy &7
economic damage or the minimum number of BRI T AT FH § BH Biel D G O
insects that would reduce yield equal to the o T & SRER SUST B BH HY <,
gain threshold, called - PEAN & —

(1) Economic Injury Limit (EIL) (1) «Ri® dc G (§.anE.ue)
(2) Economic Threshold Level (ETL) (2 & TEde W (‘S:@W)
(3) Economic Injury Level (EIL) (3) PP B 'R (‘s‘aﬂ's’:ﬂﬁ)
(4) Economic Damage Limit (EDL) @) e afy S €dTa)
122, The term ‘ecosystem’ was first used by — 122. GIRRefGET 5 weq BT W awE
e g far T err?
(1) Haeckel (2) Tansley (1) Ewa () =
(3) Pianka (4) Kreb 3) e @ =9
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123. Match List-I (Diseases) with List-II (Vectors) 123. iﬁ—l (?’Fr) B a1 @) ¥ gﬁf%m
and select the correct answer by using the IR @ & A Ry N g B W@
code given below the list - GiTd Qﬁ’( TR BT I PifoTd—
List-I List-II -1 E-1I
(A) Epidemic typhus (1) Housefly (A) RN TEHE (1) WX, w9
(B) Scrub typhus (2) Mosquito B) &hd TIEHT (2) #zas
(C) West Nile fever (3) Mite (C) I TS =R (3) Wise
(D) Typhoid 4) Lice D) CEHES @
Code - TE —
A B C D " A B C D
w 3 2 5 1 @ 3 2 5 1
®» 2 4 1 3 @ 2 4 1 3
®» 5 4 3 1 3) 5 4 3 1
4 4 3 2 1 @ 4 3 ) 1
124. Epiricania melanoleuca, an ectoparasitoid 124. URAIRSFT ATMIgdl, 6 TaRININESS
moth, is being utilised as a bioagent against- TRy, &l SUIIT has Raans e TRIgsic
@ &9 H fbar o @1 87
(1) Sugarcane shoot borer 1) T VR q°E
(2) Sugarcane root borer (2) TN DI S TF
(3) Sugarcane top borer (3) =T Y s
(4) Sugarcane leaf hopper (4) I U EOR
125. National Bureau of Agricultural Insect 125. WSHT BfY Fie womF o)1 (NBAIR) Rerd
Resources (NBAIR) is located at - T -
(1) Faridabad 1) weErE 4§
(2) Hyderabad (2) gEvEE |
(3) Bangalore (3) TR 4
(4) New Delhi @) & fReeh
126. Avermectin is a natural control agent, derived 126, Td¥Alde U@ WiBfa® FRF0 Teic €, i
from - g~ g -
(1) Streptomyces 1) TEHEET
(2) Bacillus thuringiensis @) e gRiTa
(3) Pseudomonas 3) W
{4) Treponema @) oy
127. In which insect, cerci are modified as 127. T TiT 4 wOR, A Jgw@ SuraRa
forceps? B 9 ©7
(1) Mole Cricket (D) = fpde
(2) House Cricket (2) s99 fpde
(3) Earwig (3) SaRfeT
(4) Scorpion fly @) T vons
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128. Inherent capacity of an organism to 128.
reproduce and survive is called as -
(1) Carrying capacity
(2) Biotic potential
(3) Environmental resistance
(4) None of these

129. BHC was first synthesized by- 129,
(1) Othnar Zeidler  (2) Paul Muller
(3) Michael Faraday (4) Kukenthal

130. 'Which one of the following is incorrect? 130.
(I) Rove beetles belongs to
Staphylinidae family.
(2) Ground beetles belongs to Carabidae
family.
(3) Weevils belong to Curculionidae
family.
\ (4) Blister  beetles  belong to
Chrysomelidae family.

A e A ol

131. Botanical insecticide “Rotenone” isolated 131.

from -

(1) Duboisia hopwoodi

(2) Anabasis aphylla

(3) Ryania speciosa

J (4) Derris chinensis

132. InIPM, Augmentation means- 132.

(1) a chemical control practice for
reduction of crop pest

(2) a biological control practice that
includes any activity designed to

increase numbers of natural enemies

(3) a  cnvironmental  manipulation

practice to manage the crop pest

(4) None of the above

frelt <l @ wew @R Siflg s &

Ifaf<ifea &= ar & Fe oA § —

(1) 987 &™ar

(2) Sfae amar

3) TR uieRE

@ 3 ¥ 33 TEl

§ivg Y. B 98 Ugel O far Er

E:]T_

(1) IRER SR (2) Ui o

(3) WiEHd BRIS 4) poaa

FrefoRad § 9 19 &1 o 87

(1) AT dced RoEfAFR B9
e 8]

(2) USTS dieed NS Fa 9 dafta
g

(3) difdcw SRBERIFET Fa 4 HaR
Bl

(@) forer diccn HEaERfas! a9
TR g1

I BIeAREG “RSA"” BT geh e

T oA —

Q) g Bugs

(2) TSR ufber

(3) Rafaar R

@ =R9 Rk

AMZYIGA. H 3ieer & awrf 8-

1) 9 NP B T B D 00 P
IS FEE0T Ry

Q) & <ifde fFrE=Ee o fod
e &1 18 31 A wiiffy wfte
g

3) vua U Weud & o
Tiaeely uRads &7 e

4) SWRE H § g Tl
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133. Some of the following statements are given 133. ®Ic & HEIH | HISALD! & JIT | Haog
regarding to the penetration of insecticides FrieiRad g5 soe i ™ §1 98 TeFl
through the insect cuticle. Identify the correct P g=TE PIoR—
statements- (1) EMifeFs gomdlioml, & #RGH 9

(1) Haemolymph solubility determines AeaErl © Tw @7 wEr RuiRg
the amount of penetration of R B
insecticides through cuticle. @ : R & T e
(2) Detergents also help the insecticidal = T R aﬁ??ﬁ?{%ﬁ?q‘m
penetration in the body of the insects - p =S T B 2 srére 3
by penetrating the outer cement layer o .
of the epicuticle and emulsifying the @ A A S T
epicuticular wax. 3) mﬁfm PleTEE O faams
(3) Lipophilic  insecticides  readily Aqffie F wel | ESICIR I
dissolve in the oil solvent compound o Rfeqger ax @ UfergfegeR A
and these oils dissolve the epicuticular B e oY od § 3R BleTes B
wax of the cubicula layer and allow e H YA R B AR o B |
insecticide to enter the target. (4) Pt § BeTmel B wew W
(4) Penetration of insecticide through PITADT 1 IS TP = R
insects also depend on chemical nature BT 2
of insecticides. 9= Ry g BE B TN B 9E 9%
Select the correct answer using the code -
given below — B[e —
Code- (1) Baer 2, 3 AR 4
(1) 2,3 and 4 only @) et 2 3N 4
(2) 2.and 4 only (3 ®ad 1, 3 R 4
(3) 1,3 and 4 only
(4) All of the above statement “) Wl For

134. Which one of the following statement is 134. fr=faRad & @ Fivar wem T8 87
correct?

(1) Migratory locusts don’t produce eggs (1) warT fefEl 40% Wil srdar 4
below 40% relative humidity. = s T8l < £

(2) Migratory locusts may produce eggs (2) warey fefEar 40% anide ssar 9
below 40% relative humidity. G o 3l € gadi €1

(3) Best egg produce of migratory (3) 20-35% wrfdres swgar & 4@, yar
locusts, at ranges between 20-35% Ri3al v o o ST &l
relative humidity. &

(4) Egg productior of migratory locusts @) v R 37 sier Saured aw
does not depend on relative humidity. AT W PR T8 T

135. Silver fish belongs to the order of - 135. focax fber g o7 & gsfda @7
(1) Protura (2) Thysanura (1) wiegw (2) T
(3) Collembola  (4) Diplura (3) dicr=IeT @) SR
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136.

137.

138.

Assertion The insects which have
A: higher lipoid content, are
comparatively resistant than
normal ones.
The lipoids pickup the
insecticides particularly
organo chlorines and deposit
them in different tissues.

Reason R:

0y
@)

Both A and R are individually true
and R is the correct explanation of A.

Both A and R are individually true
and R is not the correct explanation of
A.

(3) Ais true but R is false

(4) Aisfalse butR is true
Small row of hooks used to couple together
fore and hindwings in hymenopterans, this
wing coupling mechanism is known as —

(I) Frenate
(2) Jugate
(3) Hamuli
(4) None of the above

A widely used expression with primary
factors of the change in insect population is-
Ni=Noe® P _E + I
With reference to this equation, following

statement is incorrect -

(1) N:represents initial number of insect
population,
(2) E: represents number of insects
moved out of an area at time t.
3

I; represents number of insects moved
into an area at time t.

(4) B and D represent birth and death

rate, respectively.
139. Which one of the following pair is not

correctly matched?

(1) Eri Silkworm - Antheraea ricinii

(2) TasarSilkworm - Antheraea paphia

(3) Mulberry - Bombyx mori
Silkworm

(4) Munga Silkworm - Antheraea assama

136.

137.

138.

139.

AT A: DI, &l [ e foriss ot
A e Y@y € 9
FIe B AT A goIHS
Wy 9§ iR 8 21
fodize, Peamd @
Tl AR AN B
od g @ik 5% A= wast
o B B
(1) ASRRIE uF ST ¥ 9
AR R, A B TS AR BT ®
(2) A IR R IF 96 ©I 9 w9 T
R R, A 9! TE AT TE B B

(3) A T g, b7 R 3T &

@) A 399 g, WfFT R ¥4 8
TEAAIRRT § 3 @R fiv & d’l @l
AR SIS YA @ oY S &1 o
qrell gl @I B i, o & dE€m goe
T 3 B0 A o o 8 —

@D Wwe

2) e

3) ETEed

@ SWrE F Qg T
Pie S EE ¥ TRadS & TS SRS &
R S w9 ¥ WD Aafe 8-

Ni=Noe® _E +1
39 THIewr & ey A, MEffad e
Ted & —
() N; D JERT @& TRMS T By
wefRia s 2
@ E, 8 t R, UF &5 | 9% del
gﬁaﬁa’faﬁmaﬁmﬁhm
|

() L9 t I, U5 &9 & 3feX I g

el B G o nelRa e g

(4) B 3R D %99 & iR 9g =

TeRia Hvar 2
Frieiag 4 @ - gE ! gafa

BRI R

&l 87
1) & wH@T - g R
(2) TR TEDIE - TR ufteay

(3) WEd WEDlE - I AN
(@) 4T wEale - ySRar s
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140. Which one of following statement is 140. FFIfeTREd # & BT AT FAF e 87
incorrect? iy Eﬁ‘c’ AeE IR gRER™ |
(1) Transgenic resistance plants have dler—geicifdaT M a1 yae o
been developed by inserting the Beta- Siaoiive TR UIey s {6
endotoxin gene from the insect T E
pathogen Bacillus thuringiensis. (2) WiNEIRIT qﬁq‘;ﬁqﬁ ST BT
(2) Agrobacterium tumifaciens is an Ud [ qFeR B
efficient vector of DNA. 3) @W SfoRET 1%
(3) Agrobacterium tumifaciens is a wreiis g # da1 89 9T 9ER
natural soil born virus that causes & o1 dei § “pred e JT w5
crown gall” disease in plants. BRI T T
4) Transgenic plants are developed with i :
@ the -ugs? 01? vector Aggobgcterium @ @Wm E?’G.!.?_‘TY
tumifaciens. 3 e o 2
141. Atropine is used as an - 141. TENF &I ISR THar oar & —
(1) Attractant (1) g et & 5
(2) Antidote (2) fageR iy & v 4
(3 Antifeedant (3) WCwise & w0 A
(4) Allomone @) TAET P sa H
142. Which one of the following is not a weed 142. f=ifeiRaa § 9 B9 (F SRUGIR TEF el
destroyer? 8?7
(1) Neochetina eichhorniae (1) FEEEET geieT
(2) Crysolina hyperici (2) HEERMT SRURRY
(3) Wohifahrtia magnifica (3) drecwedar Axfifter
(4) Zygogramma bicolorata @ \—Ins-;ﬁ-m-q-r TEBIARET
143. Match List-I with List-Il and select the 143. -1 &1 @1 & AR Ghfew i AR
correct answer by using the code given below i R W §g & SEEM A g GE
the list - TR BT TUF BIog —
List-I List-II -1 -1
(A) Culicidae (1) Horse flies (A) ?Fq\?ﬂﬁ?i?f () & varg
(B) Cecidomyiidae (2) Gall midges ®) IS @) vife fos
(C) Tabanidae (3) Mosquitoes (C) qETRE (3) HEsY
(D) Syrphidae (4) Flower flies O) Rt 4) et Wit
(5) Fruit flies (5) e Hit
Code - —_—
A B C D o
A
2 3 4 1 5
@ 3 5 i 4 2 3 4 1 5
@ 3 5 4 1 (3) 3 2 1 4
@ 3 2 4 1
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144. 'Which one of the following statement is false 144, 99T © IN § fF=feiaa § & e~
about webspinners? T Teld 87
(1) These are small insects approx. 4-7 1) A T 4-7 mm 99 BIC e T
mm long. (2) e e dEi arel o § e
(2) Females are always winged but males R UET el EREN B 99 &
may be winged or wingless. o : TS
3) Mox:fthparﬂtlsr are chewir(lig type and @ %‘{%‘;—;ﬁ Eﬁ%q’é’{l% EALEL
cerci are three segmented. e .
(4) They have silk glands and spinming () 3 v TR o e A < ¥
hairs.
145. Mode of action of lectins is- 145, <ifde~ &1 B B BT NPT o—
(1) Disrupt amino acid metabolism (1) AT I STy IR BT
(2) Target on carbohydrate metabolism (2) PEEESE SN Bl ARG BT
(3) Cause cell agglutination and cell 3) FIfwr e 3R THHASRO BT
aggregation PHROT
(4) Target on insect exoskeleton @) P 7Y FHE B ARG B
146. Muscardine disease of silk worm is caused 146. M BT P KBRS THN fFad BT &7
by- (1) bas (2) R
(1) Fungus (2) Bacteria (3) TR (4) WSisiaT
(3) Virus (4) Protozoa
147. The organisms having narrow range of 147. WUAM & WA T=asliclar @ Sl &
tolerance to temperature is called as - qrel Wirdl Bl HEl Wil § —
(1) Stenothermal 1) wArRRd
(2) Eurythermal (2) TreFET
(3) Stenocious (3) HAIRRY
(4) Euryecious @) TRmw
148. Central Silk Board (CSB) was established in  148. $%1g WM I (CSB) & IO G &
the year ............ by an act of Parliament. Teh IRV g7 99 ... @ g o
(1) 1947 (2) 1948 (1) 1947 (2) 1948
(3) 1949 @) 1950 3) 1949 4) 1950
149. Kairomone are benefitted to - 149. A A @9 BT § —
(1) Receiver (1) 7 9 B
(2) Sender (2) IS T B
(3) Both sender & receiver (3) @ 9l 9 Ao diel <Ml Bl
(4) None of these @) T 9 2 TE
150. The most common features of order 150. THFRITIT T B T ATAFT AT & —
Ephemeropterans is - () Wi 9579 SR TABS AR TISH
(1) Leaf like abdominal gills and three R O g
tails on naiads (@ v 9eH Il Taws iR TEed
(2) Leaf like abdominal gills and two R T T@;
tails on naiads (3) 9 WY SN TAwS R
(3) Cylinders like abdominal gills and A W A g8 )
three tails on naiads @) Q?FI\ g Sl Teme e
(4) Cylinders like abdominal gills and T W QS i
two tails on naiads S
shesiesiesheskesk sheadeateofe skecke
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